
Roll No. ________ Code No. PC-015

SECOND SEMESTER EXAMINATION 2021-22
Class - B.Com./B.Com. (Comp.)

Subject - Business Mathematics

Time : 2.30 Hrs. Max. Marks : 80
Total No. of Printed Page : 07 Mini. Marks : 28
_______________________________________________________________________________________
uksV & iz'u i= rhu [k.Mksa esa foHkDr gS A lHkh rhu [k.Mksa ds iz'u funsZ'kkuqlkj gy

dhft;s A vadksa dk foHkktu izR;sd [k.M esa fn;k x;k gS A

Note: Question paper is divided into three sections. Attempt question of all three section
as per direction. Distribution of Marks is given in each section.
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[k.M & ^v*  Section - 'A'

izR;sd bdkbZ ls nks iz'u gy dhft;s A

Attempt two questions from each unit.

vfry?kqmRrjh; iz'u] 'kCn lhek 30 'kCnksa esaA (10x2=20)

Very short answer question (word limit 30 words.)

bdkbZ & I  / Unit -I

1- fuEu dks tksfM+;s (Add the following) :

5.2974 3.9746

2- ;fn 10x y   ,oa 2 4x y   gks] rks x  ,oa y  ds eku Kkr djksA

If 10x y   and 2 4x y   then find the value of x  and y -

3- nks la[;kvksa dk ;ksx 26 rFkk mudk vUrj 10 gSA la[;k,a Kkr dhft;sA

The sum of two numbers in 26 and their difference is 10. Find the numbers.
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bdkbZ & II  / Unit -II

4- 'kwU; vkO;wg fdls dgrs gSa \ mnkgj.k lfgr le>kb;sA

What is a Null Matrix ? Explain with examples.

5-  A B  dk eku crkb;s ;fn &

Find the value of (A-B) if :

2 3 5 8 2 7
4 5 9 12 3 9

A B   
    
   

6- lkjf.kd ds varxZr izes; 1 dh O;k[;k dhft;sA

Explain the Theorem 1 of Determinant.

bdkbZ & III  / Unit -III

7- :- 10]824 dk 8 ekg ds fy, 7.75% okf"kZd dh nj ls lk/kkj.k C;kt Kkr dhft;sA

Calculate the interest on Rs. 10.824 for 8 months at the rate of 7.75% p.a.

8- :- 25]000 dk 2 o"kZ dk pØof̀) C;kt ls feJ/ku D;k gksxk ;fn mRrjksRrj o"kksZ dh nj

4% rFkk 5% okf"kZd gks \

How much will Rs. 25,000 amount to in 2 years at compound interest if the rates

for the successive years be 4% and 5% per year ?

9- okf"kZdh D;k gS \

What do you meanby Annuity ?

bdkbZ & IV  / Unit -IV

10- dkSu&lk vuqikr cM+k gS &

Which is the greatest ratio :

7 25 35 19, , ,
3 7 9 2
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11- ikap O;fDR;ksa ds ekfld O;; ¼:- esa½ fuEu izdkj gS &

The monthly expenditure (in Rs.) of five men are as follows :

132, 140, 144, 136, 148

ljy lekUrj ek/; Kkr dhft;sA

Find out simple Arithmetic mean.

12- ,d Nk= viuh /kujkf'k dk 30% O;; djrk gS vkSj rc mlds ikl :- 21 cps A mldh

/kujkf'k crkb;sA

A student expends 30% of his money and saves Rs. 21. Find his amount.

bdkbZ & V  / Unit -V

13- lkekU; deh'ku rFkk vk'olukFkZ deh'ku esa varj Li"V dhft;sA

Explain the difference between the General Commission and Del-credere

Commission.

14- ,d LdwVj ftldh dher :- 8000 Fkh [kjhnus ij [kjhnnkj us :- 7800 fn,A NwV nj

izfr'kr Kkr djksA

Find the rate percent of discount if a scooter which costs Rs. 8000, the purhase

paid Rs. 7800.

15- ,d foØsrk dks ,d oLrq dks :- 120 esa cspus ij 25% gkfu gqbZ rks Ø;&ewY; Kkr

dhft;sA

A seller last 25% by selling an article for Rs. 120. Find the purchase price.

[k.M & ^c*  Section - 'B'

y?kqmRrjh; iz'u ¼'kCn lhek 60 'kCn½

Short answer question (words limit 60 words) 5x6=30

lHkh iz'u gy dhft;sA

Attempt all questions.
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bdkbZ & I  / Unit -I

16- fuEu dks rqyukRed fof/k ls gy dhft;s &

Solve the following by Comparison Method :

5 36
5
3

x y
x y
x y

 





vFkok@OR

y?kq 2 rFkk y?kq 3 ds inksa dks fyf[k,A

Write a terms of log 2 and log 3.

1 1log33 log123 2

bdkbZ & II  / Unit -II

17- fn;k gS   3A C B   rks eSfVªDl C  dk eku Kkr dhft;s] ;fn &

Given 3A C B  , find matrix C

if,    
1 4 3 6 2 3 4 1
3 7 0 2 0 6 5 7

A B
    

        

vFkok@OR

lkj.kh A  dk eku Kkr dhft;s &

Solve the determinant A  :

4 6 2
0 3 5
2 3 1

A 
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bdkbZ & III  / Unit -III

18- dksbZ /ku lk/kkj.k C;kt ij 20 o"kZ esa nwuk gks tkrk gS A 40 o"kZ ckn feJ/ku D;k gksxk\

40 o"kZ ckn ;g fdrus xquk gksxk \

A certain sum doubles itself after 20 years on simple interest. What will be the

amount after 40 years ? What times the amount will be after 40 years ?

vFkok@OR

;fn C;kt dh nj 5% okf"kZd] le; 3 o"kZ rFkk pØof̀) C;kt :- 2522 gks rks ewy/ku

Kkr dhft;sA

If rate is 5% p.a., time is 3 years and compound interest is Rs. 2522, Find the

principle.

bdkbZ & IV  / Unit -IV

19- 35 yhVj ds feJ.k esa nw/k rFkk ikuh dk vuqikr 4:1 gSA ;fn bl feJ.k esa 7 yhVj ikuh

vkSj feyk fn;k tk; rks nw/k ,oa ikuh dk uohu vuqikr D;k gksxk \

In a mixture of 35 liters the ratio of milk and water is 4:1, If 7 litre of water is added

to mixtures, then what will be new ratio of, milk and water ?

vFkok@OR

fuEu vkof̀Rr forj.k ls lekUrj ek/; Kkr dhft;s &

Find out arithmatic mean from the following data :

ykHk izfr nqdku 0-10 10-20 20-30 30-40 40-50 50-60

Profit Per Shop

nqdkuksa dh la[;k 12 18 27 20 27 6

No. of Shops
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bdkbZ & V  / Unit -V

20- ,d ,ts.V dks 7½% lkekU; deh'ku rFkk 3½% vk'oklh deh'ku feyrk gS A ;fn

,ts.V us :- 7000 dk eky cspk gks rks mls dqy fdruk deh'ku feysxk \

An agent is entitled to get 7½% general commission and 3½% delcredere

commission. If the sale is worth Rs. 7000, calculate the commission of the agent.

vFkok@OR

,d iqLrd foØsrk vknsf'kr iqLrd dh izR;sd ntZu ds fy, 13 izfr;ka Hkstrk gS vkSj

10% uxn cV~Vk nsrk gS A Øsrk ds fy, cV~Vs dk 'kq) ewY; D;k gS \

A book seller supplies 13 copies for every dozen of the book ordered and also

allows a discount of 10% what is the net value of the discount to the buyer ?

[k.M & ^l*  Section - 'C'

nh?kZmRrjh; iz'u&

Long answer question: 2x15=30

fuEukafdr esa ls fdUgh nks iz'uksa dks gy dhft;sA

Attempt any two questions from the following:-

 bdkbZ & I  / Unit -I

21- y?kqx.kd lkj.kh dk iz;ksx djds gy djks &

Simplify using log table :

 43

6

102.5 0.0025
0.7865




bdkbZ & II  / Unit -II

22- vkO;wg fof/k }kjk lehdj.k gy dhft;s &

Solve the equation using matrix method :

3
2 2

2 3 2

x y z
x y z

x y z

  
  
  

bdkbZ & III  / Unit -III

23- :- 6305 dks rhu Hkkxksa esa bl izdkj ckaVks fd muds 2] 3 rFkk 4 o"kZ esa 5% okf"kZZd

pØof̀) C;kt dh nj ls feJ/ku Øe'k% leku gksA

Divide Rs. 6305 into three such parts that their amounts at 5% compound interest

compounded annually in 2, 3 and 4 years respectively, may all be equal.

bdkbZ & IV  / Unit -IV

24- fdlh ijh{kk esa 70% ijh{kkFkhZ xf.kr esa rFkk 65% vFkZ'kkL= esa mRrh.kZ gq,] tcfd 15%

nksuksa fo"k;ksa esa vuqRrh.kZ gSA ;fn 2700 ijh{kkFkhZ nksuksa fo"k;ksa esa mRrh.kZ gq, rks

ijh{kkkfFkZ;ksa dh la[;k Kkr dhft;sA

In an examination 70% examines passed in Mathematics and 65% in Economics

while 15% failed in both the subjects. If 2700 examines passed in both the subjects,

find the total number of exminees.

bdkbZ & V  / Unit -V

25- ;fn dqN eky :- 900 esa [kjhnk tk;s vkSj mldk 1@3 Hkkx 10% gkfu ls cps nsa rks

crkvks fd 'ks"k eky dks fdrus izfr'kr ykHk ls cspsa fd dqy lkSns esa 20% ykHk gksA

If goods be purchased for Rs. 900 and one-third be sold at a loss of 10% at what

gain percent should the remainder be sold so us to gain 20 percent on the whole

transaction ?

--00--
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